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A rabbinic secondary Tum’oh — 33397 R 17

OVERVIEW

The X773 suggested that perhaps n"2 understood the testimony of 7"on7 to be in a
case where w32 which was a 131297 8207 721 was burnt together with w2 which
came in contact with an RN 7IR7T Ax™W AR, There is a dispute between *"wA and
n1901n how to understand this 31277 ARV 721

- 3PPYNA NNVIY 593 1N 20909PN YISO
s"w9 explained how this w2 is a 112771 kMW 72, for instance a vessel which
became X»w through contact with a liquid that was xnv, and the 7wa touched the *23.

NN asks on *"wAo:
= NN 29 992991 ONN 239 999 9957 15 ON YWILNNT APY? 19929 290 NYPM

And the @' 195787 >''1 asked, if indeed the w2 became Xnv from a (1) *5, how

can »'"1 derive his ruling from the testimony of 77"or?
= 58 M2%¥a NON 49993 19N PPWNI NNVIY 29910 RNVIY YD 9Wa XN

For the ruling is that w7¥? meat which became X»% from a %>, which in turn

became X2 from }°pw is not burnt unless there is 7713 2% -
= (OVIX,NY 97 MMa32) 1299 1IN DY P93I (ow 3,33 97 NNIN NIVNA NINTD

As is evident in ;73231 n2on and in 1972372 198 YYD -
= 81599770 17799 713N S93TNY 19 PNINNN PPYUNA NNIVIY Y95 9INPT

As the X2 cited the mwn which states, a 22 which became X»v through pw»

! This maon (as well as the previous 282 7"7 '010 and the following Xn»IX7TA7 7"7 NMdOIN) is referencing the X3 on
3,7,

Zxm1 "7 2,7

3 A °93 can be RN™MRTA R 22pn only from an axmwa 2R like a W or the fluids of a 21 (his saliva), however it
cannot become &nv from Ppwn which became a 1WA (by touching a y7w). Nevertheless the o72om were 2ma that
WX PPwnA can be 0¥93 Xnvn. The 0°%3 are 132777 3w Xnv and the 7wa which touched it is a 11277 W SW 80 793

4 The (general) rule is that any w7pn (or 719n) which became Xnv is to be burnt (see v>,7 [1X] X1 where it states,
AIW° WRI 9OKRY KD R0 902 vX WX wam) [immediately]. However this 9wa which became Xnv only 713772 by
touching the 1Ppwna XPWVIW 22, is not to be burnt (immediately) since Xn>>7K7 it is MY and it is forbidden to burn
w7 which are 717w (and need to be eaten).

5 ax 2w (literally) means its form is transfigured. N0 (now) understands this to mean that (it is not burnt
immediately as Xn>7R77 Q°8nu W7 are, but rather) it must be kept overnight (making it into 2011 7w2) and burnt in
the morning.

¢ Literally its ‘ear’, which can be used as a grip.

7 Sometimes the inside of a %3 is curled outward at its lip (or top), like many of our W17p >w mo>.

8 Normally when a >%3 becomes Xn»7X7T2 Xav (no matter where it touched the 7xm) the entire *73 becomes Xnv.
However, here the 0°»21 made these exceptions.
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1°Xnw touching the outside of the °72, the rule is that the inside of the *22 and its

grip and its fold and its handle are 970 -
= 5DV NN NITY PIYIY RDT NI 1329 102 vy

For the 3129 made a distinction so that we do not burn %190 and 2°27P, which

come in contact with this *23. msoIN now concludes his question -
- (3 1nw) P2PY NAVTI NRHDOD DY IDNYY NN 39239 NV 750 199N I HUMIY NN

And after the 732 had 771¥ 712’y and became 9M2 you may burn it together with
the m8»w w1 even if it was completely =372 as is evident later!'

mooin offers (somewhat of) a resolution to *"'wA5:
= 12595 YR KD 9N 1N XY 2) DY N HNPDYA 139D 13990 NI MY IN 1)

However, if m9% 912°Y means merely X»%pa 7190 even though it does not

become a1, there is no difficulty at all on >"w5.
= 19297 ANMIVY 29T NOIN 199271 NDT 13990 Y015 5297 NT1N 11 NN NN Y7YI Y1

And according to >'"w9 w» when 5'"9 said 7727 12 K37 71K, he meant to say
that we cannot compare an 31297 90°R (the case of n"7 by nww 7vwa 7217N) to a

13297 IRPIY (the case of 11"om regarding the "wa which is a 11277 7xmw 797).!2 This concludes
the explanation of the X n3 according to *"w"5.

mooin offers his explanation:
= 145159995 529 W97 13991 13397 NNV TONT PNYY 139299 NN

And it is the view of the 5'' that 33397 7R2 791 is as 79297 ' explained -
- 99191 151150905 YINM 227 PPYNI NNVIY TVWaa XN

Here (by the case of 7"on7) we are discussing meat that became X»v through

9 1t is forbidden to burn @w7p) 717N that are (XnN»187) MY, Therefore the 2w7P1 717N that touched this 73, are
RN™IIRTA N0 and cannot be burnt, unless there is 7771% 712°Y as M0N0 continues. When people realize that the inside
of this *%3, etc. is not ¥nv, they will not burn the 2°w7p1 10 that came in contact with this ¥,

19 The question is how can »n"1 derive the ruling that one can burn an 11377 0°X with Xn» X7 A8 from 7"omM;
granted that initially the 7wa was only a 71277 7X%»0, however when it was ready to be burnt it was already “n,
which is permitted to be burnt with Xn>»R7 IRM0.

' They kept it till the night and it was burnt before Imwa My (when it becomes M1). Alternately it may refer to w2
o°n7w which can be eaten 'R 79°91 o°n° '27; if it became Xnv on the first day and it was kept overnight, there is 717,
but it is not M1 until the third morning.

12 The nxmun 7912 ’nvaw w1 did not become N1, and nevertheless they burnt it with a Xn»> 18T 7810, similarly 7"
argues one may burn 7m170 which is 712777 7MOK together with RN™MRT ARMAY AN,

13 Even if one is permitted to make a 13277 XMW into a XN»IXT AW that does not prove that one may make an 0%
11277 into a XN IRT ARMY. See ‘Thinking it over’ # 1.

14 See 2,70 (towards the bottom of the T1y).

15 n"9 maintains that 7Xn0 Pwn can be Xnun others only 112777, Therefore this Ppwna Xavaw w2 (by a"omM) is only
112771 ®nY, and nevertheless they burnt it together with Xn»K7n Xnwiw w2, therefore we can derive from this that
112977 AMORY 717N can be burnt with XN»MIRT ARAY TMAN.
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contact with ypwn, and »'9 follows his reasoning, etc.
— INNMINT DINN NIVY DYPYN NNV 9INRT 799309 Y09 a9

And " follows his reasoning that 2718 N2u» PP IRPW is KNPINT —

maoIn anticipates a difficulty:
- 189918 912582 RYN 0IWTD 1PPONY PR PPUNI XNVIY 59937 23 Yy 9N

Even though that regarding a 9> that was P pwna X211 we do not burn it, unless
it had 7992 2%y —

mooIN responds:
= Y MNMIVA YD RDT P9IV 19297 ANV ANV

However, by the remaining 33397 nWR»w (not "pwna XnVIw *%5) we burn those
without 771% M2V, for not all nR»IW are equal.

mooIn clarifies:
= 2149 4992 299599 RNPIND TEI0NIN NI JOIN NHVM YN 9INRT INNDIT PN 12929 99IN)

And the >''1 states; that according to the one who maintains that %28 is Xnw»
RN™MRTA 928 by 2°w7p, it was not necessary previously to establish the 77

R of 7"'om by a T 79 (a whw) -
= BRPIINT ANV 19 217 RNPINT 02NN XNOVY 1PPYN 229%9NX7 209% 249 XHN

Except for >''1 (where it is necessary, since) he maintains that X»w® Ppwn nx»Iw

2R is RNMMINT, so the w2 which touched the pwn is a RNMTINT AR 79 -
= NNV NODIN NI 19 19 XD 19297 ANMIV 19 MHNT 9N 23499 HaN

However according to »'9 (who maintains that 21X Ravh 1PPwn DRV is 112777),

16 Therefore the Ppwna xpoIw w2 (by 7"0n7) is XN»IXTA ’AL and even though we can increase its level of xR,
nevertheless we cannot derive from this that we can be Xnvn something with is Xav/70K only j312777.

17 See footnote # 5.

18 It would seem then that anything that is 112772 X0 is not burnt unless there is 7M% 712°v. The same question Md0IN
asked on *"w1 (regarding »"7) would (seemingly) apply to n1o01n as well. See footnote # 10.

19 pw7p that came in contact with a Ppwna XnwIw 93 require 711X M2°Y prior to burning, however other 11277 MXML
(such as ow7p that were 7Xnv Ppwna X1nvl) do not require 77X M2y and are burnt immediately.

20 %, 7. The R7n3 there cited 7"'onn that they burnt 7wa that was 8™ 7712 X101 (making it a *3w) with w2 which was
TRV 2R2 RPVI (making that w32 a PwRn). The Xy asked when we burn them together the "1 which touches the
7w will still remain a 1@ as it was originally; what is the w171 of 7"on.

21 See footnote # 20. The X3 replied that 7"on7 meant a 721 791 (a ") which makes the 7w which touched it a
*wow, and when it is burnt together with the 7?7 282 XHVIY W2 (a PWRI) the *W>HWw w2 will become a "1w.

22 The n"an MnxT amends this to read 7pwn DRAIW KT,

23 According to "0y " if the 7wa touched a IxmwT 721 (the WX PPwn) it will become a RN™IXT *1w, and it will
remain a Xn™MIRT °1w even if it is burnt together with a Xn»IXT PWRA (the ARV 282 RPVIY Ww1). Therefore it is
necessary to say that the 1"pwn which touched the 7w2 was a "1 and the w2 is a "w°5w and when burnt together with
the WX w21 it becomes a "1w.
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where this 78207 7912 Xn0Iw W2 (the Ppwn) is only 333971 X1v, so even without
a 7 7 (even if the 7pwn is a MR and the Twa is a ") there still is an addition

of IRMIY when this WX ApwWH2 XnYIw 1w w1 will be burnt with the XN*MXT WK -
= RPIINT NIV 12990V XYM 19297 XDV NIPIVyNT

For initially the *1v 7w2 was only j1397% X%u, but now when we burn it with the

XNMIIRTA PWRI W2 the original 1312777 *1w w2 will become a RNINTA "W K»#Y,
since RN™MIRTA 2R &nvn 928.24 There is an increase from 11277 *1 A8MY to RN™IIRT W AR,

mooIn asks:
= 19 ON BNNNINTI TIIN NNVM YN PN MINT INNPD PNYY 19929 NYPH

The "= asked; according to the one who maintains %28 X»un Y218 PN

RN"9IRTH (even by 2°w7p), it turns out that-
= PYUNI BH9INI 1WNIVY Z7PPYNa WY YW RIN ZENIIINT SWIDY NNOWN RY YD) %297

According to ' we cannot find a Xn>>1R7 SwHw, unless a *w>Hw food touched

1w pwn which touched an PR 218
= ANMIVN AN NNVIYV VAN OY 1991V YWI NIIN ANV HAVIN 'NN 12 ON

If indeed this is so, what additional 82 is there when he burns this “¥hw 5018

RNPMRTA with the WX w2 which was IR2IL7 282 K1 -
- 19397 NYN %W 21 RKY Y9IN NHVM Y9N PNT 1197

For since 2R X»wun 218 1R this *w°%w w32 when it comes in contact with the w2

1wX will only become a 33971 "W -
- YN NDT PPYNN I RNVIY 113 13297 23W M1 291 INY2)

But even without coming in contact with the NWX2 921X, this XX “WHW W1 is
already a 33397% "1 since it became X»¥ from the Xn»7IR7) 1w Ppwn, which are

really 112772 WX Ppwna for mBan NYaR PRwn Rnbn 71INT DX 20197 93! Nothing
changed; it was initially a 71277% *3@ (by touching the PXnv Ppwn which are always a 1wx1), and

24 However if we maintain XDMRTA 921 Xn0n 991 PR even by owip, then even according to 2" we need to
establish the 71wn by a 791 79, for if it became &nv by a 721 making it a 1313777 "1 it status will not change by burning
it with a Xn»7I87 WK, for since P2 Xnvn 93X 1K only 1327177, it will remain a 13277 *1w. [According to *01 '3
however we must always establish 3"or7 by a 791 791, since the 7212 Xp0IW w2 is always RN™NRTA Xnw and its AR
will not increase if we burnt it with a 7w, regardless whether 2218 X»un 923X or not. ]

25 However if we maintain 921 ¥1un 9518 we can be discussing a case where TWX1 pwn touched "1 9218 which
touched the *w%w wa. When ;717 '3 stated that we are discussing 191 Ppwn2 ALY W3, it can also mean that the
w2 touched 728 that were Ppwna 101 where the IRMY status of the *w 2w w2 (whether it is Xn*>7I872 or 1327177)
will still depend on whether 2°InX R0 PRPWH NRMIY is RN™IIRT or not.

26 It is necessary to say (according to 01 ') that the ARV 7912 RALIW W32 is @ RNPNKRT "W9W, otherwise why does ™
0 argue with »'".

27 The avmva 721 7212 XL W2 had to touch PPwn, not 723X since 221X Xnun 928 7X. See ‘Thinking it over’ # 2.

28 It would seem that this WX 921K is XP17 W7 it could also be a *%5 or o7& who is a WK,
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now it is touching the WX w2 which can make it only a 1312772 *1Ww since 921 Xnun IR PX.

nD0IN answers:
= 11951 NI KXY ININT PNYY 1329 99IN)

And the "9 answered that the 7127 did not as of yet issue the decree -
= 299599 YYD NINN MONY PPPYN RNVN NN 919N DY

Of mmn N Ppwn Ruwn 721907 NR 01577 90 as I explained previously —

moon offers another option:
= YDA 2¥29 93) 321990 0N 13929 w975 3119125 30058ya N1PV)Y YWDV INNT M) N

Or you may also say, that this "2 w2 became NX»w through wood or

frankincense as the n'' explained later regarding a w723 "¥°2n -
= 34539 PWYNRI N2 2199100 2101 3YNPN NANT RNYN ND NY2D)

And the X ) assumes now that the wy?n nasn is effective even to count from it
a "M WRA -

TDIWOIN RYY (x5 9710p%) N9 I¥2 WIDY W1 23 Yy 9N
Even though "9 queried this later whether we can count a "1 PWwXJ by %y

71271 and the query was not resolved, nevertheless the X3 now assumes that we can
count a 1w PWXA by AN291 DXY.

SUMMARY

According to *"w9 the nRMLYI 7912 RPVIY W2 touched a *%> which was Ppwna Rl
(71312771). 01 "1 will maintain that we cannot derive M0°X from aX»W. According to
nooIn the XML 7212 XAVIW W2 touched (W) PRAYV PPwn (which are 2K Xnwn
only 112777), while 0 " maintains that 2R X102 PPwn DRV is XNMIRT (or
n"on is discussing a case where the w2 was 711271 D8V RaLI).

29 x°R7 "7 'o1n R, 7. Therefore the 7wa was W pwn2 Xawl is only a “w 2w and it becomes a 132771 "W when it is
burnt with the Pw&A w2,

30 This refers to the wood used for the ;737v77 *¥v and the 71127 for the minan. See ‘Thinking it over’ # 3.

31 This would seemingly mean that a (Xn*>RT2) NWRI 7pwn touched AN21 %%y which became a XX "W (since
D°INR XMWY PPWH DRMY is RNMIRT according to 01 M), which in turn touched the w7p 7wa which became a “wow
RNPTINT.

32R5 "7 R0

3 wnpn naon literally means the dearness of wp. Even though 711291 2°¥y are not objects which can be iRm0 2apn
generally, nevertheless 711291 0% of WTpn are XML 721 because of WP n2°n. See 2,12 P70, See “Thinking it over’
#4.

34 The issue is whether 711291 2°¥y which became 8nv (because of WP nN2°M), can be Xnwn others and have the same
process; if the oy are a X1 (they touched a yw), whatever they touch will become a "1w, etc. Therefore the w2
which touched the (aw) 711291 %%y can become a wHw.
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THINKING IT OVER

1. According to >"wn the reason *01° "1 disagrees with 2"7 because we cannot derive
oKX from 82W.3° How would *01° '3 rule regarding n°v»aw aywa ynan nmn (when
it is X7 MNOR); can we burn it together with I8nY N?3°

2. moon asks, how can we understand °01° " according to the 7"n that &nwvn 921X PR
951%.3” Why could not mooin ask this very same question directly on ;7°»7° ' who
clearly states that the AR 7912 RPLIW W2 became X1Y by touching PrnY PRwn?3s
This question would seem to be more direct!*’

3. moon (second) answer was that the aXmLA 7912 XnLIW W2 touched n1a7 D¥Y
(but not Ppwn).** However mooin stated previously that the case of 7712 Rnvaw w2
TXMI0T is as n7’ M stated that it was 7pwna xnvl;*! how can we reconcile these

two statements?+?

4. mpon (second) answer was that the XML 7712 KLY W32 touched HNa7 DRY
(but not Ppwn).* The Xnx derives* that 711291 o°¥y are 8 72pn like 79X from
the ,oo of “wam. They are considered like 192 since W12 XWan wWNPa N
Seemingly if 111291 0%y are nXMWL 22pn for they are like PR, so the rule of PX
DOW Xnwn 2R should apply to nna? ooxy as well; what is accomplished by
establishing the case where the w2 became Xnv from 717291 ¥y 214

35 See footnote # 13.

36 See X"wAmm.

37 See footnote # 27. The gist of the question is that since the axmvA 7712 XPLIW W2 could only become Xnw by
touching 1Xnv Ppwn (for 221X RHLA 221 PR), which will make the w32 a (XRN»>MRT *wHw, but a) 1337772 "1 since the
Pwn always become a w1, However when this 722 (which is a 112777 "12) will touch the axmv 282 RHLVIV W2
(which is a Rn™RT W) it will still only remain a 7327772 "W, since 721X Xn0H 791X TX.

38 The question is exactly as mentioned in footnote # 37. Since the w3 touched the Ppwn (as n " clearly states) it
is a 112777 ", and when it will touch the XmIWVA 282 RALIY W3 it will still only be a 132777 "W, since RALA 79X PR
901. We would avoid the need to prove that according to >0 " the IR0 77212 XY W2 was through Ppwn since
DO Rbn 90 PR, for 77 1 states clearly that it became &nv through Ppwn.

3 See X"wImn.

40 See footnote # 30. If it touched Ppw» then the 7w2 would become a >3 and obviously it would be permitted to be
burnt with a WX W32 since 721X Xnwn 721X 1R (see footnotes # 37 & 38).

41 See footnote # 14.

42 See wn M.

43 See footnote # 30 & 33.

442 .

4 See n"vx.
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